For the situation shown in the figure, what is the minimum coefficient of static friction between the block and the surface that will keep the block from moving? 
(F1 = 5.0 N, F2 = 4.0 N, and m = 5.0 kg.) 











[image: image1.png]Question 3: If the coefficient of kinetic friction between the block and the table in the
figure below is 0.560, and m = 0.150 kg and ma = 0.250 kg (a) what should ms be if the
system is to move with a constant speed? (b) If m3 = 0.100 kg, what is the magnitude of
the acceleration of the system? (Assume ideal conditions for the string and pulleys.)
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